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Methane reacts with a chlorinating agent, sulfur dichloro dioxide (SO2Cl2) by a free—radical
mechanism to yield choromethane in the following equation.

CHs + SO;Cl, — CHiCl + CH3SO,CI+ SO, + HCI

() The initiation stage of this reaction occurs in two steps, both of which form the
chlorine radical. Write an equation for each step at this stage.

(ii)  Propose two equations to represent the propagation stage of this reaction.

(ili) Given that CHsSO,Cl is produced at the termination stage, write the formulae of the
radicals that produce it
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Methane reacts with a chlorinating agent, suifur dichloro dioxide (SOzC:) by a free—radical
mechanismto yield choromethane in the following equation.
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(i)

iii)

CHa+ SOzClz2 —> CH:Cl + CH3S0:2CI+ SOz + HCI

The initiation stage of this reaction occurs in two steps, both of which form the
chlorine radical. Wiite an equation for each step at this stage.

Initiation:
SO:zCl: —Cle +SO:Cle
SO:Cle — Cle + S0z

Propose two equations to represent the propagation stage of this reaction.

Propagation.
CHs+ Cle — CHae +HCI

CHae + S02Cl2 — CHsCl + SO2Cle

Given that CHsSOzCl is produced at the termination stage, write the formulae of the
radicals that produce it

SO:zCle and CHze




